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AB-232024

M.A. (Semester-1V) Examination, June-2025
(Backlog)

SOCIOLOGY
( Criminology-II )
Time Allowed : Three Hours
Maximum Marks : 70

Note : Question paper is divided into four sections. Attempt
questions of all four sections as per direction.

Distribution of marks is given in each section.
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SECTION-A | Us-JH

( Objective Type Questions )
( wgfres we )
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Note : Attemptany teng

uestions. Each question carries 1 mark_

[10X1=10]
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1. (i)

(ii)

Which is the crime violence Against women.
(a) Rape

(b) Kidnapping

(c) Sexual Abuse

(d) All of the above

Tewa & U BN ar SIS e Si-d
S

(a) TR
(b) ST

(c) sy
(d) I Th

Crime is a product of culture Whose statement
is this?

AB-232024/330 (2)
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(b)

(c)
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(iii) The work in which the soul falls is?

(d)
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B & S H UG Al ¢ T R

(v) Which is the important instrument of modern era?

(@) WM (a)  C.Dplayer
(b) & (b) or computer
() I} (c) TV
(d) @ET (d)  Radio
(iv)  What are the causes of violence? Gﬂgﬁ% T W a9 F-37 2?

(a)  Feeling of revenge (a) H41.31. @97
(b)  Fulfillment of needs (by  HIUH
(c)  To cause fear (c) d.a.
(d)  Allofthe above (d) =
B & BR 4 27 (vi)  Whatis the first stage of juvenile delinquency?
(a) == H AT (a)  Vagrancy
(b)  AEIEHAHAT FH it (b)  Fugitiveness
() BT I@H FHEl (c¢)  Unemployment
(d) I g (d) None of these
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(vii)

AB-232024/33)

a7 ST I GeH STae 87

(a) ST
(b) e
(c) WM
@ T HE T

Which of the following options is necessary for

the reformation of the criminal?

(a) Prison reform program

(b) Community improvement program
(c) Options of prison

(d)  Allof the above

A F gER R few § ¥ Se-ar e
HETH 27

(@) =R F gur wem
(b) W gar
©) ' F e

(d) 9T weh

(6)

(viii)

(ix)

AB-232024/330

Which institution plays the greatest role in the

treatment and treatment of criminals?
(a) Police

(b) Court

(c) Prison

(d) All of the above

ST % AR ST IUEN & o0 e ger #i

(@) gE

(b) =

(c) UMK

d) SEd T

When is Human Rights Day celebrated?
(a) 10 November

(b) 10 December

(c) 10 January

(d) 10 April

(7) [P.T.O.]
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e fRag Ha FqAE Sl &? (xi) When did the Reforms taking place among Indian

workers start in India?

(a) 10W

(a) 1805
(b) 10 o=

(b) 1835
(c) 105133_&

(c) 1905
(d) 10 3B

(d) 1947

(x) When was the Reform school Act passed?
AR FAAE H 2 3 AT ARd § 49 "

() 1909 i 2 27

(b) 1897 (a) 1805

(c) 1880 (b) 1835

(d) 1990 (c) 1905

A faaed SfeiEd S qiRd gam? @ 1947

(a) 1909 (xii)  Inwhich Country was the first use of open prison
in the world?

(b) 1897
(a) India

(c) 1880
b England

(d) 1990 (b) g

AB-232024/330 (8) AB-232024/330 (9) [P.T.O
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(c) Japan i
(ii) Where was first open prison built in

(d) America Madhyapradesh?

: e T qawRr IUAN By aer § e . s
ﬁsaﬁ%aaﬂﬂfﬂ WA | Tee g g we g
fpn T

(iii) What do you understand by open prison?
(a) HRd

_ gl FEE & AT A w3
(b) S
& (iv) From which Greek word does the word police
c BIRIE

originate?
(d)  STHRH

YT 9= B S e A O § g 7

SECTION-B / @Us-§

(v) Mention two characteristics of prison.
( Very Short Answer Type Questions )

5 <M B &l [Iar SaRg
(\'ﬂﬁfﬁg II-‘F[) aﬂﬂ’ RIBEGRIEY

: _ (vi) What do you understand by juvenile correction
Note: Attempt any five questions. Each question carries 2

marks.(Word limit : 25-30 words) [5x2=10]

Fl it ol & S A R w2 0t W B ol e e & 70 e 7
(sre #m < 25F 30 9r2)

Institution?

(vii)  Where is the supreme court of India located?

2. (i) Mention two features of conservation programme. WG 1 GareT e el T o

- ST W AN 1 3 e e
2
32024/330 (10) AB-232024/330 (11) [PT.O
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SECTION-C / @'Y
( Short Answer Type Questions )

(agsaﬁﬂm)

Note: Attempt any five questions. Each question carries 4

marks.(Word limit : 250 words) [5x4=20]

Rl O TS ® o I TS ST 4 S H
(s & : 250 91=)

3. (i) Differentiate between crime and sin.
FUE 7 U9 H $fa¥ gasy
(ii) What do you understand by prison reform?
e GER | A9 FT GEE 57

(iii) Explain the concept of universal method of

prevention of new crime.
T W FHA
(iv)  What do you understand by human right?

AN & ST 1 A 37
AB-232024/330 (12)

(v)

(vi)

(vii)

Write a comment on Remand home.
What do yu understand by prison system in India?
qd | e T F AT T A
Explain the importance of family in crime control.
e e § ofEr & Tl @ HREE
SECTION-D /| §7s8-%
( Essay Type Questions)

( Froem 9w )

Note: Attempt any three questions. Each question carries 10

marks.(Word limit : 500 words) [3%x10=30]

Rt A Tt B ST AT S FE 10 S B
(s | : 500 =)

4. (1)

AB-232024/330

Explain in detail the reasons for crime against

Women?

R 3 frew @ s & Fen @

R & areEdl
(13) [P.T.O.]
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(iii)

(iv)

(V)

Explain in detail the role of human right in prison

management.

S UEeEE H AR S Y B e

Describe the various correctional institutions for

criminals in India.

ARG H SAUNIE & T [T e e
H qU I

What do you understand by victim science and

explain the different types of victim prison?

tﬁ%aswaﬁmwwﬁ%?@tﬂ%awﬁa
% AR TR @ S SR

Explaining socialization and writing in detail about

its various agencies.

ISR 6 FHEI 8T 30D i Coireedl
F fmr q fifagy
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